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Topic:- GENERAL HINDI

1) ‘S IUFT § I W5 § -
1. DIH DI

2. HHGIR

3. HIHAR

4. PTHIIR

Correct Answer :-

2) 1 g araei? 3 A B A, B e @l TGS ISTE0 b PR DI AT 2
1. v

2. 3uHT

3. HIAIhRUI

4. ®I3 8l

Correct Answer :-

3) 3ifEl ¥ U - geTak &1 i g s A A s ar g2
1. 3O 7

2. e &

3. 3R v

4. g &

Correct Answer :-



4) fFIRT & fore wEl yataand ara 2rssl 3t ufea o gHg
1. d¢, dR, HR
2. qC, R, PR
3. 08, dR, 'R

4, 98, AR, HIR

Correct Answer :-

5) FafafEa a9 &1 gs Fu R fie 7 el & 4 sarse -
3 3T o AT 2|

1. 3§ 31U S Hbll B

2. 3{d 1Y & Ghd Bl

3. 379 319 S FHd 5|

4. 39 3§ ST I&d gl |

Correct Answer :-

o 3T 3T o gbd g |

6) ‘W& BT =15 § | i A1 Wt faaT 2 32
1. GRI&
2. RS
3. R
4. W=

Correct Answer :-

. TRIE

7) «3JHIGT” T I BT el TINRUINS &9 T2
1. 307t =R SRR e

2. ST ST

3. SO FE AT

4. 9 8 99 999 g



Correct Answer :-

o SO FHAH ST

8) PIAYISA BT W AHTRIS fag Fa A A S A1 e?
1. 3T I Uifsd

2. 3HIA & fau gifsa

3. 3PHTd BT gifsd

4. 3[HTd R Hifsd

Correct Answer :-

. 3% I Uifsd

9) Rrawftsrufaaeer $ RLIHF < ? -
1. 3R

2. SUlbd

3. MiufeeT

4. 3ARI

Correct Answer :-

10) WM IT@AII’ 3 a9 & Nad I § Iugad Weg W |
1. B HW HGT

2. DI 4Gl

3. WM Yl

4. & 3T YT

Correct Answer :-

- RYGI

Topic:- GENERAL ENGLISH

1) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:
A number of students suspended during the riots in 1998.



1. were
2. 18
3. has been

4, are

Correct Answer :-

2) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.
Despair drove her to suicide.

1. Hopelessness
2. Debts

3. Poverty

4, Loneliness

Correct Answer :-

« Hopelessness

3) Out of the following four options, choose the incorrect sentence:

1. Ethanol is a environment friendly as it enhances combustion of petrol resulting in lower hydrocarbon emissions.

2. Toddlers in the village followed their noses to the booth where pudding was being prepared as part of the mid-
day meal.

3. Team India under the captaincy from Rahul Dravid took off for its South Africa tour.

4. The glamour, fame and money of boxing have lured the likes of the Alis and the Tysons to shed their headgear.

Correct Answer :-
« Ethanol is a environment friendly as it enhances combustion of petrol resulting in lower hydrocarbon emissions.

4) Out of the following options, choose the correct form of adverb for the given sentence:
My friend speaks very .

1. softest
2. softly

3. soft



4, hardly

Correct Answer :-

« softly

5) Out of the following options, choose the most appropriate usage to fill in the blank:

When he continued to make the same mistake despite constant reminders, I him where he had gone
wrong.

1. explained
2. explained to
3. explains

4, explain

Correct Answer :-

« explained to

6) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

I wish I could weave my magic and get things back in order.
1. to behave in a way that attracts interest or makes someone behave in a particular way

2. to make something easy to access for anyone who knows or can perform magic
3. to make something difficult for anyone to understand and therefore, inaccessible

4. to cast a spell on somebody so that they disbelieve everything that is done

Correct Answer :-

« to behave in a way that attracts interest or makes someone behave in a particular way

7) Choose the option that correctly sequences the following sentences:

1. World temperatures already have increased this century by about 0.6 degrees Celsius and are projected
to rise by between 1.6 degrees and 3.8 degrees by 2100.

2. Current projections are that sea levels worldwide will rise by 15 to 90 centimeters by 2100, depending on
whether action is taken to reduce greenhouse gas emissions or not.

3. Global warming is caused by the burning of large amounts of fossil fuels, such as coal and oil, which
release gases that trap heat in the atmosphere.

4. Sea levels could rise as glaciers melted and the higher temperatures expanded the size of the oceans,
threatening much of land, which was originally reclaimed.

1. 1234



2.3142
3.3124
4. 4231

Correct Answer :-

. 3142

8) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:
Sometime back, there was so much rain that the river over the bridge.

1. flowed

2. had flowed
3. flew

4. flown

Correct Answer :-

o flowed

Topic:- GENERAL KNOWLEDGE

1) Name India’s only producer and supplier of rails to Indian Railways? /
YRR Yd F forT URa & Yo & v fFAmfar oiR smyfdeal 1 am sant|
1. Durgapur Steel Plant / @ﬁg} i Wic

2. Bokaro Steel Plant / PRI LI wie

3. Tata Steel / CICT ¥Id

4, SAIL’s Bhilai Steel Plant / qd BT f’lmé TId wic

Correct Answer :-

« SAIL’s Bhilai Steel Plant / Iqd BT ﬁ-l?'ﬂg d wic

2) ‘Pommel Horse' is a term associated with which of the following games? /
Trd g Weg FRafafea # 9 foa 9@ 9 Wdlta 82

1. Gymnastics / fSraiRee

2. Chess / QIR



3. Billiards / TSlerIgyd
4. Synchronized swimming / TP ARt

Correct Answer :-

« Gymnastics / fSTReT

3) The Mugger or Marsh Crocodile found significantly in the Chambal river is classified as in the
IUCN Red List /
I9d ¢l § U 9 a1d TR 971 411 TTRES I U I Qe ard gt | FEUH

Tiffepa farar mar 21
1. critically endangered / TR o oty
2. vulnerable / STETTATRT

3. endangered / JWIUTH
4. near threatened / HIdPh

Correct Answer :-

« vulnerable / YT

4) Consider the following statements regarding the revised eligibility criteria for Old age Pension under the
Indira Gandhi National Old Age Pension Scheme (IGNOAPS).Choose which one is correct. /

sfaxT i e gsTaRT 9 AT (snsefiusidive) & dgd JETawT U3F & Rig wxifia avgar ardst &
ey # fFuferfad sY=1 wR fIarR &3 1 98} &1 999 31

1. The BPL widows with severe and multiple disabilities in the age group 60-79 years are included in the scheme. /
60-79 I g aif H iR SR g fyeiar areft stdiea fauarsit & dvemr & wnfire faar man g1

2. The BPL widows with severe and multiple disabilities in the age group 60-79 years are excluded from the scheme. /
60-79 T g atf & iR 3R ag feamar areh didiua fauarsif o deT & aTex @1 T[T 5|

3. The BPL persons with severe and multiple disabilities in the age group 60-79 years are included in the scheme. /
60-79 T8 31 7 H TR 3R 5g i ara e safema &) aien & =it fobar mar 2

4, The age of applicant shall be 55 years or more. / 3{Tded I 3Y 55 Y TT ITY 3HfIH il

Correct Answer :-

» The BPL widows with severe and multiple disabilities in the age group 60-79 years are excluded from the scheme. /

60-79 T Mg avf & iR 3R ag feammar areh didiua fauarsii ! deT & aTex @ T g



Y YR &b I ISIUTd T ATH Id13¢, o= ST-a:1 2018 H dGd T¢AT 4T YT|
1. Anandiben Patel / 3Hald- gcd

2. Om Prakash Kohli / 3TH UBT ﬁ@?ﬁ

3. Rameshwar Thakur / JAYR SIPR

4. Ram Naresh Yadav / 19 R ATGd

Correct Answer :-

« Om Prakash Kohli / 319 U1 W

6) Who was the first woman Governor of Madhya Pradesh? / HOYSR B UYH afgar TR B A2
1. Smt. Sushri Uma Bharti / ﬁ%ﬁ AT YRl

2. Smt. Sharda Mukherjee / Frodt TR @Gﬁ

3. Smt. Sarla Grewal / ST SRl YdTdl

4. Smt. Anandiben Patel / S1Hc! 3fiFglad Ucd

Correct Answer :-

. Smt. Sarla Grewal / STH =@l DI

7) The First Kalidasa Samaroh at Ujjain in 1958 was inaugurated by ./

1958 ® I=i- W YYH PTG THRIG $T IgUTe = farar i
1. Dr. Rajendra Prasad / SI. oG UG

2. Pt. Jawaharlal Nehru / GfSd SIaTgR @1 18%&

3. Sarvepalli Radhakrishnan / ¥ qUe X1 [H B0

4. Lal Bahadur Shastri / ¢flc] dfglgR R

Correct Answer :-

 Dr. Rajendra Prasad / SI. TSl UG

8) The Gun Carriage Factory is located in which district of Madhya Pradesh? /
T R o) 7w wexT & fa fora o fRa 82

1. Ujjain / IS

2. Bhopal / Hrare

3. Jabalpur / SIe[¢TYX



4. Gwalior / TATITOR

Correct Answer :-

« Jabalpur / SIdclYR

9) Ms. Uma Bharti served as the Chief Minister of Madhya Pradesh from the year ./
R SATURDA A P AU B J&IHA & TU H STRIUR JUTT AT

1. 2003 t02005 / TS 2003 ¥ TAHR TY 2005

2. 2003 to 2004 / TY 2003 T TG T 2004

3.2001 to 2003 / TY 2001 J THR T 2003

4.2004 to 2005 / TY 2004 J TAHR Y 2005

Correct Answer :-

« 2003 to 2004 / Y 2003 T ABR dY 2004

10) Ram Prasad Bismil was one of the 3rd Indian revolutionaries to be hanged by the British for: /
Tyt fafre fra gevor & Rie siiel g1 Wit fg g o arer f wRdta wifaeial § € e &
1. Alipore Bomb Case / 3‘IFﬂ'ER §H YhT[

2. Chittagong Armoury Raid / ﬁs'lﬁm RRANTR STl

3. Kakori Conspiracy Case / DHIHR] TSI THI

4. Chauri-Chaura /Eﬁﬁiﬁﬂ

Correct Answer :-

» Kakori Conspiracy Case / HIHR] TSIF UHRUI

Topic:- GENERAL REASONING

1) Find the average. / sﬁwr ITd Y|
85, 96, 45, 65, 78 & 45

1.78

2. 69

3.59

4. 65

Correct Answer :-



2) Find the missing number: / & TG A B3
7,11,19,35,67, __  ,259

1.130

2.131

3. 140

4.129

Correct Answer :-

. 131

3) If E=5, AMENDMENT = 89, then SECRETARY is /
gf¢ E = 5, AMENDMENT = 89, df SECRETARY 3‘

1. 112

2.114

3.100

4. 115

Correct Answer :-

- 114

4) A can lay railway track between two given stations in 14 days and B can do the same job in 10 days. With
the help of C, they did the job in 4 days only. In how many days C alone can finish the job? /

A RIAT & T 14 RA T YA ¢F ol AT IHar g ik e IH FRA Y 10 e A I HR IHaATRI C
Fl Heg A, 91 39 1l o1 b 4 oY A w3 I d &1 ¢ 3rpa 39 o1 fraq fot & 1+ Apar 82

128 days /28
1 11 11

8 8
14" days / 14—
, s / HEFT

8 8
13> days / 13- et
3, M= URSET

B2 dags f 15 5t
4 11 11



Correct Answer :-

g g
12> days / 12— Rt
TR

5) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /

W & 15 I SreRY Td TSt BT ST YA B! 8 | Ted Jaie ugH |

(i) mo458ni782lke
(i) mo458ni1782Lke
(iii) mo458ni782lke
(iv) mo458ni782lke
1.1

2.1v

3.1

4. 1ii

Correct Answer :-

6) Which one of the following four addresses is NOT EXACTLY same as the one given below? /
fFafafad for e ar ual # @ 2 e 71T vd & e 9 $19 91 v T8 82

Al Mamzar, Abraj Al Mamzar building
Flat No. 509/Block A - Dubai - United Arab Emirates
+971 4 220 7774

(i) Al Mamzar, Abraj Al Mamzar building
Flat No. 509/Block A - Dubai - United Arab Emirates
+971 4 220 7774

(ii) Al Mamzar, Abraj Al Manzar building
Flat No. 599/Block A - Dubai - United Arab Emirates
+971 4 220 7774

(iii) Al Mamzar, Abraj Al Mamzar building
Flat No. 509/Block A - Dubai - United Arab Emirates
+971 4 220 7774

(iv) Al Mamzar, Abraj Al Mamzar building
Flat No. 509/Block A - Dubai - United Arab Emirates
+971 4 220 7774

1.1



2.1v

3.1

4, il

Correct Answer :-
o i

7) There are 20 students in a History class and 80 students in a Geography class. Find the number of
students who are either in a History class or in a Geography class, when the two classes meet at different
hours and 10 students are enrolled in both the courses./

TS 3fa8TT B HeT o 20 BT & 3R YN &1 HeT H 80 BT € | 5 3l HETY SEHT-3MeT Hel uR frerdt € ofik a1
TSIl B 10 B Aifed €, @ 39 S 31 UW;AT J1d B S AT a1 3FAeT It e & § a1 i B Har A g

1.90
2. 80
3.70

4. 100

Correct Answer :-

Topic:- PEDAGOGY

1) Problem solving is more likely to succeed in schools where: /

T GHTU & 3 3@l A Ghd g4 B HHTGT Afd § o8l

1. Teacher-centric pedagogy is in effect. / fRrefep-dbiad srefte! gy o gid! % I
2. Students are homogeneous. / STH R CIRIE] %l

3. The emphasis is only on discipline. / IR Had SR UR @Tﬂ %I

4, A flexible curriculum is in place. / 31';],:|¢I qiadeh H oliTe ﬁ%ﬁ?ﬂ%l

Correct Answer :-

« A flexible curriculum is in place. / 31';1‘,:|¢I UT&JAeh H Slig H s\ldl %I

2) In memory, the information is stored in: /
wqfa #, g e # vela aidt @
1. ATM only/m udien



2. LTM & ATM / TAcITH 3R TSIUH
3. STM & LTM / TICITH 3R Tad oy

4. Working Memory only / Had FUBR] Fﬂﬁf

Correct Answer :-

. STM & LTM / TETH 3R Tardiea

3) is listening for getting the content of a message. /

TS "R ot fawgavg B Ui H34 & e g7+ ot ufspar g1

1. Probing listening / Sira-fafer squr

2. Passive listening / f=ese yaur
3. None of the above / SIRIGd & A ﬁ’sﬁ :I_Eﬁ
4. Deliberative listening / fmr=if erqur

Correct Answer :-

. Deliberative listening / faH=ff sigur

4) In the process of teaching, a teacher should always try to: /

Rreror &1 ufohan 7, Te Rigre o1 g8z A= & g il s anf:

1. Provide ample homework / v ‘]_S'—fﬂ'{f A I

2. Keep the students in good humor / S P 3BT q:hqﬁ-[ T G- &

3. Increase the severity of punishment / HSI[ CARIEMES] GE'I%[ Pl

4. Give proper feedback and reinforcement / 3Ifaa Qﬁl'gf@ (qﬂséaﬂ 3R USa 4 o

Correct Answer :-

« Give proper feedback and reinforcement / 3 I uﬁg@ W) 3R U S B

5) The span of visual attention is measure by: /

TG AN (RAgera sréx™) @t 3rafy &1 aru+ A1 & g1 far siran 8:
1. Periscope / URTHIT

2. Microscope / ATSh IR (J&HcT)

3. Tachistoscope / SPGB (FgHfazN)

4, Kaleidoscope / mﬁﬁq



Correct Answer :-

« Tachistoscope / frermg @Eﬁﬁ?’«’ﬁ)

6) ‘Out-of-the-box’ thinking is related to: /
Y ST AT gebe' i fe & weifta @
1. Divergent Thinking / SR fddq

2. Logical Thinking / GUCEAEGE)

3. Evaluative Thinking / Gedih-TIcHd feid-

4. Convergent Thinking / SFRY fa=

Correct Answer :-

« Divergent Thinking / SR fddq

7) Inclusive education refers to a school education system that: /

wHTaR Riam v wpe Rra yomedt o AdefHa st ¢ =i

1. Encourages education of children with special needs through exclusive schools / faQy F{z'_c’ﬁ & qregH ¥ foriy
SRl a1l Sl Bl 1187 BT MedTied PRl o

2. Emphasizes the need to promote the education of the girl child only. / Had dTieIepT i e &l deldl ekl
SHARIHAT R I it 8|

3. Includes children regardless of physical, intellectual, social, linguistic or other differently abled conditions. /

ﬁﬁgqﬁf&m, TSI, I8 HTT et I7 3= SfeT-3ieT fUfaa 1 tRaTg fohT foeT sl &1 =miid
CEGIR

4, Includes gifted children only. / I UFTHTRITS sed &l MU Ha %I

Correct Answer :-

« Includes children regardless of physical, intellectual, social, linguistic or other differently abled conditions. /

ﬁﬁgqﬁf&m, TSI, I8 T et a1 3= SeT-3iaT fUfaa &1 tRaTg fohT foeT sl & =miid
CEGIR

8) The best way to change the wrong doing of a child is by: /

TSP 9= & TTeTd PTH B dea BT I DT asid] = 8:
1. Giving one more chance / T 3iR HIPT S

2. Teaching good moral values / 3% e Yo T AL SR
3. Punishment / &8 &R



4. By giving awards / YRIPRR qh

Correct Answer :-

 Teaching good moral values / 3=y Afas Hd ol fRreor SR

9) The best way of helping the learning-disabled is to: /

SMRATH & 314/ afadd &1 Tl B BT IS dilhT - 8:

1. Improve their fundamental skills like reading, writing, spelling and comprehension. / RECJ HolHd CARINESES]
U1, fora=T WiehT U1 9 P dgaR 9914

2. Insist that they overcome their disability. / SR ¢ fob o 37U S1&MHdT UR Sitd U R a|

3. Give them less things to study. / 378 &I o [T HH Al 4 |

4. Give them less home work. / d%. HH e d?lfj%fl

Correct Answer :-

+ Improve their fundamental skills like reading, writing, spelling and comprehension. / 3h HelYd DI oY
U1, fora=T WichT auT 9 & dgar §91d|

10) The best way to help students do well in their studies is through: /

BT DI ITDT AT HS! ARG A BIA | T B BT T ST ARNDT §:
1. Guidance and counseling / Wﬁ"x’h 3R Ry

2. Punishment / oIl

3. Rigid and Strict Discipline / FoR 3R TG SR

4. Rewards / YXIh IR

Correct Answer :-

+ Guidance and counseling / HI feef ok TRyt

11) When a test is administered the second time to the same students, if they obtain similar results as that
of the first one, the test is said to be: /

o9 TP 81 B & g godt ar wdheror wiid farar simar @ ok Sud ugd o &) uivumy ur gt &t
Y UPR &b UN&IUT B Bl SITdT 8-

1. Repeatable / Gl ang
2. Reliable / A%

3. Valid / 3Y



4. Normative / HIHD

Correct Answer :-

. Reliable / AT

12) 'National Council of Educational Research and Training’ was established in i
T AfeP Srgie™ MR ufreror uwe &t Rima=r oy A1 TE A

1. 1962

2. 1961

3. 1986

4. 1963

Correct Answer :-

« 1961

13) Which is the highest level of cognitive development? /
AT [APTH BT ITqH wR DI A1 32

1. Sensorimotor stage / TR TS

2. Concrete operational stage / dehic IR Wl

3. Preoperational stage / WHSHTRRAT ol

4. Formal operational stage / B TR TS

Correct Answer :-

« Formal operational stage / B TR TS

14) Which is not the advantage of team teaching?/

g A&7 &1 ATY P T1 81 82

1. Better financial benefits of teachers / fQT&‘lﬁ A a_@?l? fodg @y
2. Better use of teaching techniques / fR1&0T dh-1oh] T g SUANT
3. Better planning / éw BISE]l

4. Better utilization of resources / ST b1 a_@ﬂ? I

Correct Answer :-

« Better financial benefits of teachers / m&m &l aw faxig @ty



15) Which learning method is better for a visual learner? /

=g setia Riendf (Rggsm @-iv) & e ®19 WY srera= wommelt 9gar sidl 82
1. Gaming technique / WA aTel! dpiD (ﬁﬁl"’[ m
2. Association technique / T db-id (Q@ﬁl'@-‘?lq m

3. Concept mapping / SIIYIRUT EICICPIY]

4. Recitation method / U& T ST YUTTcil

Correct Answer :-

« Concept mapping / SAYRUT HHRHT

Topic:- SANSKRIT

1) CANCELLED

HEHR AT o@sh: &: ?

2) CANCELLED

WIelle el ‘T, AEATaEr dfd gdh et &7 Tvad ?
| T |
, T |
3, AIfdehred |
5, T |

Correct Answer :-

. T |



3) CANCELLED

o, 3meaitasr afa faumElt 7 g ?
|, T |
5, AIfdeRred |
3, TP |
5, T |

Correct Answer :-

4) <AL 509 &: digaucad: ?
| OF Tcad: |

, AGY 9T |
5, &F UIE: |

4. HUT 9cag: |

Correct Answer :-

. S

5) 31 TUW AU W & 3R qauidn UHIGEn Hafa?

6) srenfafésey gat St #t |



| edl, =9 g dt |
. §, e T |
3, O, S st |
,, ¥ AL T |

Correct Answer :-

T, 39 9oal |

3. AT |
;. AT |

Correct Answer :-

8) dAifderdes A1 ifdecaeg AT &: ?
1, egUl: |



g, PHERERL

Correct Answer :-

11) §¢ TR § 9l FETAYETE angm fohe 2
. Fafd |
2. HAGIH: |
3, HAY |

4 HdTed |

Correct Answer :-

o HOI |

12) 36 AT FEpAlGAl, Hed

A 9 U FAT & Tadigicad o)
1_ﬁa?ggmmﬁamﬁaqaa{3wﬁal

, AH 5 Fearn: fqagicad: A |
3'm?§mﬁﬁa@mﬁl
4_341??@3{3@@%31‘51?\%"31‘@?“

Correct Answer :-

HHA ¢ HodEn ddgicad: 3 |



14) gAY REAIEGIGE: T=gAT: Fd Ucdd: &: ?
, d9d 9T |

dddd 9cdd: |
2. 2

5 AT (3T/ATR) TcTa: |

4 G (37d) TTT: |

Correct Answer :-
A (3d) TcIT: |

5 GOl |
4, EMOT: |

Correct Answer :-

16) starforeh: (Fraromet fhaamon) vos: SR &: |

| TeeTSTRIeH |



19) ‘I1=: 'j{ﬁl:' ScadHd 39 & 7

1ﬂamﬁi‘rgm:l

5 '*j(‘l“’lﬁ:l-ﬁ:lrﬁff I |

3. e E?‘Ef: |



4 TATHEE =T =T |

Correct Answer :-

TAgFg e qe9: |

20) &fd FKIdged: dgl: Tied ?
{ Tear: |

5 3l |
3, TRId: |
4. ICEUGEN

Correct Answer :-

21) 375ie 3T APeUI IULTAT: Tod: “HIGeIar HF [dedd ?
,, deHfedrad |

), aredfehfatfEa AT |

3, TEFATGARA |

4, SANATAREIT ARG |

Correct Answer :-

. AT #gHRG |

22) THUeeTd gcdicd: dhieall add ?

1. ‘T a gs st

, TEId Iaead 51 |

5 EIcHS wed#H 5d |
4, TEofamiufdues: sfa |

Correct Answer :-

. TEd ArEegd 5t |



23) ofelectd gAmam Thdaa e ?
1, 9|

5, T |
3_q'1?|?|'|'|
4 T |

Correct Answer :-

24) FmifeeR AfACl g@t Agracal &t ?
lw-ﬁimﬂﬁl

797 - FHNEFIIH
, AT - 3 [

(g - A= |

3

. TeRTcTeeae - fagge |

Correct Answer :-

25) HeNTATESeY eredy SohRied: TAfoIgameres: &: ?
MGG L I A

o, T AT |

gei' erec: |

4, TN reg: |

Correct Answer :-

26) &: ohR: HIGSATd 9g=ad ?

l_ﬂﬂ'l



3 @ |
4 T
Correct Answer :-

e

27) AqEATd: HTEA AEF Heasiald ?
| PIHIARET |
5 TThES |
3. TR |
4, THATER |

Correct Answer :-

. THARA |

28) fgar sfa reggaEr @ &1 F: FHFaa: ggeg a3 ?

, g, agdf, geasifaaaaT: |

, T, agaﬁ, gsSTaHFIT: |

,, Tqdf, w8l Feasfaseaa: |

, S, T, Tuaifaeda: |

Correct Answer :-

. aiadrar, gdrar, gradifasada: |

29) ‘wgAT HIAAR I+ [deRa g FITTART - 3¢ FET 30 ?

TSCledIShREd |

1

, TRIFTATHREY |

5, [AATTATASHREY |

4 dHRIASHETT |



Correct Answer :-

TSCledlelgh ey |

yRRER
3. Htd |

4 O |

Correct Answer :-

*) e qeT ety soaT g FRA a9t R 2
| TEIET |
5, HfE=RTOT |
5, Fgwart |
4, ST |

Correct Answer :-

. HOEE |



33) ‘yElAdCd HET ACHET FAFIH, HEd ?

| TaTAAEdGeaed |
;. ATATARIFATAFT |
SCETICE I

4ﬁmwl

Correct Answer :-

mmmmwngwmmw I

34) ‘FsmaEpTacEEIRGaEEesafea? i g dea RAfdaR ?
;, Foagea |
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